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Introduction

1.1.  Objectives

2 ZMes 2015 9 A=Cistn AFH Sonte] AZEQ0f 33 HE Zolol HdENME 4
Yoot MENHE HEYI Z2IE A|AE/(NPS : Network Printer System)S £2ZEQ0{0HS
0|83t 7H4o| A|lA'-e 2 F3idt= Z0[Ct

1.2.  Background

HERR Z2IE AAE(NPS : Network Printer System)2 MA|ZIC 2 HEQR CHE AME XL 9

PP = LOM LHIERT ALEAZL mact AFEAICIXIE HE0IH HEE ALEAS 320 4F
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Network printer

2015 H AT EQI0 B3 JHE ZoloM RISt 2 T2ZHMEE <8 1>9| HEYA

Class A Team 3 4



1.4.
1.5.

HERA Z2IE AIAE(NPS : Network Printer System)2| program source code % unit test &

I3t test code £ Cygwin EZ 0| Al O|R0{X|H, program source code X test code 2| 1 4
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1.6.

References

T3_2015_SRA_4.0

T3_2015_SDS_2.0
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2. Test items

NPS(Network Printer System)2 TA3t= x| HHeo] 2

== Y1510 2 gotAt. 4249 input
=2 Yo 2AS 42 HHET output 0| LIR=X|E HIAE i}

2.1.  Overall of modules ( T3_2015_SDS_2.0 & 11)

Tick Print Command

LCD Command

Tngger s / Tick

LCD Command
mgg’gr’ 6
{ 21 IEﬂab‘e L3 | C0 Command
\, R D\sablg

Pint_State

Triggers. T
ngge ‘d
User List
’7‘ Tick LCD Command
Read <49 LeD Commeand 9
Paper Refill Inpu? it /e
f JE— s SaVe g paper Ink Amount
gt Input Line Tnput Data _fad ’ B e s— Sper T Aoy
;\gt\\\\ —
211

\

Tnggar .,-"’

\. -
J'.r 21 __Trigger
; <Y
LD commfnd Print State I LCD Command
] _— \ Tr\gger
N A
i \
] User List
! —_— o Command'
, : LCD Command
v
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2.2. SD(T3_.2015_SDS_2.0 &)

Input Data C,(' /

| | calculated Data
4 |

Input Data d

Trigger -
\\ Trigger

o rigger ‘ Trigger
.. / T"gg‘x‘ Enable / Disable ./‘ zliqger | ?

1B 1) iz 12 ;
o136 Bl2137 Q2138

2.3. STD (System Controller)

Tick[Joined&8(Id_Flag==0)

&&command==(3||4]|5/|6][7)] Tick[Joined&&command==(1|[2)]
/ Trigger ‘Admin System’ / T”Elge" ‘Print System’
Admin System System Controller Print System
Tick[Uoined] Command
/ Trigger 'LCD Command’ Print = 1
Stop = 2
Paper Refill = 3
Ink Refill = 4

User Join = 5

User Delete = 6
LCD Command Show Users = 7
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2.4. SD (PrintController)

Enable ‘Print_Wait’
Tick[(command == 2) && (c_state

N - Tick[IVE || {PL<CD) || {(PP<CP) ||
=1 ((wait_num==5)&&(c_state==1)) ||
/ Disable 'Print_Wait', Trigger ’Stop' ((command==2)&8(c_state==0))]

Disable 'Print_Wait, Tnigger ‘Ejigin
- -
Stop -— Print_Wait Error

Tick[(c_state == Q)

&& (Pl < CI) && (PP < CP) Tick[(c_state == 1)
&8 (command==1) && VF] 88& (0« wait_num <= 5) L
/ Disable 'Print_Wait', Trigger && (command == 1)] Command
"Print’ / Enable "Wait’ Print = 1

Stop = 2
| Paper Refill = 3

Ink Refill = 4
User Delete = 6

Show Users = 7

2.5.  SD (Manage User Controller)

Tick[(command==3) Tick[(command==4)

&8 (CP <100) ] && (CI < 3000)]
/ Trigger 'Paper Refill

J‘Trlgger ‘Ink Refill
Paper Refill Refill Controller Ink Refill

Tick[(CP==100) ||

(CI==3000)]

/ Trigger 'LCD

Command’ . !
Command
Print = 1
Stop = 2

| Paper Refill = 3
LCD Command [ Ink Refill = 4
User Join = 5

User Delete = 6

Show Users = 7
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2.6. SD (Refill Controller)

Tick[command==5] l Tick[command==7]

/ Trigger 'User Join’ / Trigger 'Show’
Iefie e e en Manage User —_— Show
Controller D

Tick[command==6] Command

/ Trigger ‘User Delete’ Print = 1
Stop = 2
Paper Reflll =3
Ink Refill =

User Join = 5
Show Users = 7
EUD(Exist User to

Delete) = Boolean
EI(Exist ID) = Boolean

Tick[!IEUD || €I ]
/ Trigger ‘LCD Command’

3. Features to be tested

3.1 HIAEZ process E|AE

ID Name Description
1.1 Input Interface | 2Xf B ZEE Y Y0 ALEXIS| D ER% HO|HE

e 2HOF finput +&A| fin O M&350] inputConverter 2

f_input 2 return StC,

2015 Class A Team 3 9
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1.2

Input Converter

input =X B in 2 M50 inputinterface 2R H
EHAYL2 fin 2 IDE in 2 ID O €11 fin 2| data € in 2|
data O €2 = fin 2| command £ sie o e
HSE ROLA in 2] command O "*"Ef d1%ing

return $HC}.

System

Controller

inputConverter 22 H 22 input 7&H H in S HIESR
ccTZN Bl cE HETtth in2 IDE c 2l cID Of
=0{F1, ¢ 2] command O in 2 command & & O{ &L,
d_Insert &=0]| ¢ O] 242t in O] data & E7F0{A data &
c 2| command Off XA HEA A|[FHAM ¢ Q| H==0| DO{FCt
Join_Check Of in 2| ID & EHAFOA S SEE A=
A& XA file_update & 2 =34 ¢ 2| command 7t 1 £=
2 ™ now_command & 2 &5 X‘I’“ﬁl, printCalculator £
DESHN c o FAE HAFCL 2 ¢ 2 command 7+ 1, 2 7t
OfL| 2 admin_Check Ofl in 2] ID % AZFU=Hl 1 0] return
ZICHH now_command & &30 H&sl1,

adminCalculator & 2&5}10] ¢ 9| FAE HAHAFLL

2.1.2.1

Print Calculator

systemcontroller 28 E ¢ ¢ 7&K EZQIEH ¥ c &

HAEOLM “ Jprinttxt’'E w RER 9Lt p c &M HEp 2

A-45H0 cal_Data Ol p 2 F22k ¢ & EAFOIM 2240

2ot OIo[HE A Ltsto] p off ME et (o) B9 43 &,
X &, ool Rrd) p ol MYE ¢S HE2R

"./printixt"0f E3{5IC}

2.1.2.2

Print Controller

*./nowcommand.txt"0l Al 2402 command & Oj7HHTZE
2r=Ch p_t ?Lxxﬂ Ha PT E 4438t read_print £

O PT 2| H==2| Ztoj LIO|HE
if =

So10f =S FAletot.

2.1.23

Print

add_wait Off p_t +=H| B PTE HHFTO] " /wait.txt"Of

ID 2t IAF S S5t 1, read_wait & 2= AME

2124

Stop

%XI%‘%OI SOE=0 X Z2ET} 24 F0| OfL|H
2 int_

controller_state E 3 22
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HHECE

2125 Print_Wait ojol Qi Z ALEAL7E AS W &£ CHE AFEXRZG 2l
QFEES HWS W 7|7t 5 HO| ot ™
print_controller_state & 2 £ H 1 add_wait & =510
PTE HAECE Btk 5 F S X5t QICHH
print_controller_state & 4 £ HIF 1 error_code € 1 £ 0§

alarm_error Off ™ &SHCt.

2.1.26 Error Ch7| JEHE FO ®X| ZOtALE Qai7) 27hseh SEfO| ALY,
oM T S At Gl A 2EE ERE I

—_
error_code & A5t alarm_error Off ™ &St

2.1.3.1 Admin systemcontroller 28 E c_c &M ZIE B ¢ E &0F c 2
Calculator commmand 0| 2} IS FOf H|O|HE ==otrt.

Command 7t 3 & 4 O " /refill.txt"0l| 2 29| ¥

£330} Command 7t 5 £= 6 0| manageuse & 5310

command &t ¢ 2| ID & EAHF0 join_Check & &3Hl ElI
s Z-st v Jusertxt'Of ID 2t EI & Z&iCt

2132 Refill Controller | “./nowcommand.txt”0|l A 202 command & D72
2Herh rt FEKX B RT S Y45t2 read_refil & 2E340]

RT 2| =25 EAZF0| RT 2| #H2| 40f| HO[HE XM FtCt.

YHOl2 &S Sot] if 22 &5t =S HARSIC =40
H= d+E 2 S ATt
print_current_state 7} 0 O| ™ FEZ TAHSI=0| 22}
ZCHX|E E1tStE 242 DO H error_code S EHHAIF{N
oo =1 XCHX|2 ST F otCh XX E Z115HK|
Ho™ o YHS AT,

2133 Manage User "./nowcommand.txt”O| A 1012 command £ Of7fHF2=

Controller =Lk ut 2N B UT & dd5tA read_user 8 2 E510]

Ut ol =48 AT UT o B=0| gL0f HO|HE XMLt
Hol= US S510] if 22 &5t0] =US HGAMSHLh =0
X= dF+E 2ESHY HHS ATt
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2134 Refill Paper refillcontroller 2 £E r_t &K 4= RT 2] amount &
BAZOIM &X| SHE AL} Ol S2Ho] =22 0|

SOHEX ARSI A7t 2 o} HOf| Z[2CF

2.1.35 Refill Ink refillcontroller 2 £ & r_t XX ¥ RT 2 amount &
HAYOIN &X| STZ s=ADCE Ol S7H0| MER 0|
A

SO0 REX| HASHO] HAIZI2 2 ot 2L,

2.1.3.6 User Join manageusercontroller 2 £E ID & 7] 2ot M2 SE

ID & . /userlist.txt"0| =2 SHC}.

2137 User Delete manageusercontroller £ £ E{ ID & 7 2ot A& D E
" Juserlistixt"O| A ZAMSHH &0 111D E M Qg LIHX|E
" Juserlistixt"Of CHA| &= BICH AMH|Of 2tE5IH AR AEE

Eoict,

2138 User Show " Juserlistixt"E 20|} MEEOJA= IDES =AUE
E =t

2.2 Print Interface read_wait 2 2B DU S 90} w_t =M HAM WT E

WOrM S LS Qlafst= QE Mo~

2.3 LCD Interface M ALEARt T dE, T QS Lot i HOoIHE
Z2IE o SEl, th7I At & 132 .

=, g2 33 52 X oK
O

4. Features not to be tested

- B HEE LOLS0|E BEL HAE S1X| gLt
ID Name Description
2.1.25 Print_Wait the gt 28
2.1.33. Manager User Controller Che gt 28
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2138 Show SsEE AEA ol 23F0|
0|2 I MBI FES
LCD StHO| HEA|SHCE
23 LCD Interface st=7t 9l
5. Approach

HESI ZZEH A[AE(NPS : Network Printer System)2| program source code % unit test

@[t test code = Cygwin 2HZ0A O[F0|{X|T{, program source code H test code 2| ¥ &

=8 At

rlo

XN&EHez S2E|D test E L
6. ltem pass/fail criteria

UZSHEX]

ot

SRA O U= BE QFAFE

o

7. Unit test design specification

olstrt

=

7.1.  Test design specification identifier

T3_NPS_000_000

7.2. Features to be tested

= 2 MO| 3 Features to be tested =X

7.3.  Approach refinements

7|8t510d test code & ZdBICE 1 0[]

aer

74. Test identification

=
=

m]
=x

2hols5t7| ?fsto], 2 Ao FolE L&

=
=
ole =0 CisiA= test code & ZHASHA|

Identifier

Feature

Valid / Invalid Value;

2015
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T3_NPS_11_000

1.1 Input Interface

ID = user, data = sing.txt,

mode_input = p

T3_NPS_11_001

1.1 Input Interface

ID = user, data = 1000

mode_input =i

T3_NPS_11_002

1.1 Input Interface

ID = user, data = 100,

mode_input = a

T3_NPS_11_003

1.1 Input Interface

ID = user, data = user2,

mode_input = j

T3_NPS_11_004

1.1 Input Interface

ID = user, data = user2,

mode_input = d

T3_NPS_11_005

1.1 Input Interface

ID = admin, data = sing.txt,

mode_input = p

T3_NPS_11_006 1.1 Input Interface ID = admin, data = 1000,
mode_input = i
T3_NPS_11_007 1.1 Input Interface ID = admin, data = 100,
mode_input = a
T3_NPS_11_008 1.1 Input Interface ID = admin, data = user?,
mode_input = j
T3_NPS_11_009 1.1 Input Interface ID = admin, data = user2,

mode_input = d

T3_NPS_11_010

1.1 Input Interface

ID = NULL, data = sing.txt,

mode_input = p

T3_NPS_12_000

1.2 Input Converter

ID = user, command = p, data =

2015

Class A Team 3
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sing.txt

T3_NPS_12_001 1.2 Input Converter ID = user, command = s, data =
sing.txt

T3_NPS_12_002 1.2 Input Converter ID = user, command = a, data =
100

T3_NPS_12_003 1.2 Input Converter ID = user, command = i, data =

1000

T3_NPS_12_004

1.2 Input Converter

ID = user, command = j, data

2015

user2

T3_NPS_12_005 1.2 Input Converter ID = user, command = d, data =
user2

T3_NPS_12_006 1.2 Input Converter ID = user, command = h, data =
userlist.txt

T3_NPS_12_007 1.2 Input Converter ID = admin, command = p, data
= sing.txt

T3_NPS_12_008 1.2 Input Converter ID = admin, command = s, data
= sing.txt

T3_NPS_12_009 1.2 Input Converter ID = admin, command = a, data
=100

T3_NPS_12_010 1.2 Input Converter ID = admin, command = i, data
= 1000

T3_NPS_12_011 1.2 Input Converter ID = admin, command = j, data
= user2

T3_NPS_12 012 1.2 Input Converter ID = admin, command = d, data

Class A Team 3 15
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= user2

T3_NPS_12_013

1.2 Input Converter

ID = admin, command = h, data

= userlist.txt

T3_NPS_12_014

1.2 Input Converter

ID = NULL, command = p, data
= sing.txt

T3_NPS_211_000

System Controller

c_ID = user, command = 1, data

= sing.txt

T3_NPS_211_001

System Controller

c_ID = user, command = 2, data

= sing.txt

T3_NPS_211_002

System Controller

c_ID = user, command = 3, data

= 1000

T3_NPS_211_003

System Controller

c_ID = user, command = 4, data

=100

T3_NPS_211_004

System Controller

c_ID = user, command = 5, data

= user2

T3_NPS_211_005

System Controller

c_ID = user, command = 6, data

= user2

T3_NPS_211_006

System Controller

c_ID = user, command = 7, data

= userlist.txt

T3_NPS_211_007

System Controller

c_ID = admin, command = 1,

data

sing.txt

T3_NPS_211_008

System Controller

c_ID = admin, command = 2,

data = sing.txt

Class A Team 3
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T3_NPS_211_009

2.1.1 System Controller

c_ID = admin, command = 3,

1000

data

T3_NPS_211_010

2.1.1 System Controller

c_ID = admin, command = 4,

data = 100

T3_NPS_211_011

2.1.1 System Controller

c_ID = admin, command = 5,

data = user2

T3_NPS_211_012

2.1.1 System Controller

c_ID = admin, command = 6,

data = user2

T3_NPS_211_013

2.1.1 System Controller

c_ID = admin, command = 7,

data = userlist.txt

T3_NPS_211_014

2.1.1 System Controller

c_ID = NULL, command = 1, data

= sing.txt

T3_NPS_2121_000

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 0)

p (Pl = 1000, PP =10, VF = 1)

T3_NPS_2121_001

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl = 1000, PP =10, VF = 0)

T3_NPS_2121_002

2.1.2.1 Print Calculator

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl = 1000, PP = 10, VF = 1)

T3_NPS_2121_003

2.1.2.1 Print Calculator

¢ (c_ID = admin, file = sing.txt,

command = 1)

2015
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p (Pl = 1000, PP = 10, VF = 0)

T3_NPS_2121_004

2.1.2.1 Print Calculator

¢ (c_ID = admin, file = sing.txt,

command = 1)

p (Pl = 1000, PP = 10, VF = 1)

T3_NPS_2122_000

2.1.2.2 Print Controller

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

WT (ID = user, file = sing.txt,

paper = 100)

T3_NPS_2122_001

2.1.2.2 Print Controller

command = 2

PT (ID = admin, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

WT (ID = admin, file = sing.txt,
paper = 100)

T3_NPS_2123_000

2.1.2.3 Print

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,

2015
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verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2123_001 2.1.2.3 Print command = 1
PT (ID = admin, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 1)
PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
0)

T3_NPS_2124 000 2.1.2.4 Stop command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,

temp_paper = 100, wait_num =

2015

Class A Team 3
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0)

T3_NPS_2124_001

2.1.2.4 Stop

command = 2

PT (ID = admin, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_000

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_001

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,

2015
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verified_file = 0)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

5)

T3_NPS_2126_002

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 200, current_paper
= 100, temp_ink = 200,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_003

2.1.2.6 Error

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 10, temp_ink = 3000,

temp_paper = 10, wait_num = 0)

T3_NPS_2126_004

2.1.2.6 Error

Command = 2

2015
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PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 2,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_005 2.1.2.6 Error command = 3
RT (100)
PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 0, temp_ink = 3000,
temp_paper = 0, wait_num = 0)
T3_NPS_2126_006 2.1.2.6 Error command = 3
RT (100)
PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =
0)
T3_NPS_2126_007 2.1.2.6 Error command = 4

RT ( 3000 )

PS ( print_current_state = 0,

current_ink = 3000, current_paper

2015
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= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_008

2.1.2.6 Error

command = 5
UT (ID = admin, El = 0 )

PS ( print_current_state = 1,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_009

2.1.2.6 Error

command = 5
UT (ID = admin, El = 1)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_2126_010

2.1.2.6 Error

command = 6
UT (ID = admin, El = 0)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)
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T3_NPS_2131_000

2.1.3.1 Admin Calculator

c (c_ID = user, file = sing.txt, ID
= NULL, command = 3, r_ink =

100, r_paper = 1000)

T3_NPS_2131_001

2.1.3.1 Admin Calculator

¢ (c_ID = user, file = sing.txt, ID
= NULL, command = 4, r_ink =

100, r_paper = 1000)

T3_NPS_2131_002

2.1.3.1 Admin Calculator

¢ (c_ID = admin, file = sing.txt,
ID = NULL, command = 3, r_ink
= 100, r_paper = 1000)

T3_NPS_2131_003

2.1.3.1 Admin Calculator

¢ (c_ID = admin, file = sing.txt,
ID = NULL, command = 4, r_ink
= 100, r_paper = 1000)

T3_NPS_2132_000

2.1.3.2 Refill Controller

Command = 3, amount = 100

T3_NPS_2132_001

2.1.3.2 Refill Controller

Command = 3, amount = 101

T3_NPS_2132_002

2.1.3.2 Refill Controller

Command = 4, amount = 1000

T3_NPS_2132_003

2.1.3.2 Refill Controller

Command = 4, amount = 1001

T3_NPS_2134_000

2.1.3.4 Paper Réfill

Amount > Max

T3_NPS_2134_001

2.1.3.4 Paper Refill

Amount = Max

T3_NPS_2134_002

2.1.3.4 Paper Refill

0 < Amount < Max

T3_NPS_2134_003

2.1.3.4 Paper Réfill

Amount < 0
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T3_NPS_2135_000 2.1.3.5 Ink Refill Amount > Max
T3_NPS_2135_001 2.1.3.5 Ink Refill Amount = Max
T3_NPS_2135_002 2.1.3.5 Ink Refill 0 < Amount < Max
T3_NPS_2135_003 2.1.3.5 Ink Refill Amount < 0
T3_NPS_2136_000 2.1.3.6 Join ID = NULL , File = userlist.txt
T3_NPS_2136_001 2.1.3.6 Join ID = user, File = userlist.txt
T3_NPS_2136_002 2.1.3.6 Join ID = admin , File = userlist.txt
T3_NPS_2137_000 2.1.3.7 Delete ID = NULL, File = userlist.txt
T3_NPS_2137_001 2.1.3.7 Delete ID = admin , File = userlist.txt
T3_NPS_2137_002 2.1.3.7 Delete ID = user, File = userlist.txt

T3_NPS_22_000

2.2 Print Interface

WT (ID = user, file = sing.txt,
paper = 10)

PS ( print_current_state = 0,
current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

T3_NPS_22_001

2.2 Print Interface

WT (ID = admin, file = sing.txt,

paper = 10 )

PS ( print_current_state = 0,
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current_ink = 3000, current_paper
= 100, temp_ink = 3000,
temp_paper = 100, wait_num =

0)

7.6. Feature pass/fail criteria

8. Unit test case specification

8.1. Test case specification identifier

Test Case Identifier Input Specification Output Specification

T3_NPS_11_000 ID = user, data = sing.txt, Call - Input Converter

mode_input = p

T3_NPS_11_001 ID = user, data = 1000 Error
mode_input =i
T3_NPS_11_002 ID = user, data = 100, Error

mode_input = a

T3_NPS_11_003 ID = user, data = user2, Error

mode_input = j

T3_NPS_11_004 ID = user, data = user2, Error

mode_input = d

T3_NPS_11_005 ID = admin, data = sing.txt, Call - Input Converter

mode_input = p

T3_NPS_11_006 ID = admin, data = 1000, Call — Input Converter
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T3_NPS_11_007

Call - Input Converter

T3_NPS_11_008

Call - Input Converter

T3_NPS_11_009

mode_input =i

ID = admin, data = 100,
mode_input = a

ID = admin, data = user2,
mode_input = j

ID = admin, data = user2,

mode_input = d

Call - Input Converter

T3_NPS_11_010

ID = NULL, data = sing.txt,

mode_input = p

Error

T3_NPS_12_000

ID = user, command = p,

data = sing.txt

in.command = 1

T3_NPS_12_001 ID = user, command = s, Error
data = sing.txt

T3_NPS_12_002 ID = user, command = a, Error
data = 100

T3_NPS_12_003 ID = user, command = i, data | Error
= 1000

T3_NPS_12_004 ID = user, command = j, data | Error
= user2

T3_NPS_12_005 ID = user, command = d, Error
data = user2

T3_NPS_12_006 ID = user, command = h, Error

data = userlist.txt
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T3_NPS_12_007 ID = admin, command = p, i.command = 1
data = sing.txt
// print
T3_NPS_12_008 ID = admin, command = s, i.command = 2
data = sing.txt
// stop
T3_NPS_12_009 ID = admin, command = a, i.command = 3
data = 100
// paper
T3_NPS_12_010 ID = admin, command = |, i.command = 4
data = 1000
// ink
T3_NPS_12_011 ID = admin, command = j, i.command = 5
data = user2
// join
T3_NPS_12_012 ID = admin, command = d, i.command = 6
data = user2
// delete
T3_NPS_12_013 ID = admin, command = h, i.command =7
data = userlist.txt
// show
T3_NPS_12_014 ID = NULL, command = p, Error
data = sing.txt
T3_NPS_211_000 c_ID = user, command = 1, Call = PrintCalculator
data = sing.txt
T3_NPS_211_001 c_ID = user, command = 2, Error
data = sing.txt
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T3_NPS_211_002 c_ID = user, command = 3, Error
data = 1000

T3_NPS_211_003 c_ID = user, command = 4, Error
data = 100

T3_NPS_211_004 c_ID = user, command = 5, Error
data = user2

T3_NPS_211_005 c_ID = user, command = 6, Error
data = user2

T3_NPS_211_006 c_ID = user, command = 7, Error
data = userlist.txt

T3_NPS_211_007 c_ID = admin, command = 1, | Call - PrintCalculator
data = sing.txt

T3_NPS_211_008 c_ID = admin, command = 2, | Call - PrintCalculator
data = sing.txt

T3_NPS_211_009 c_ID = admin, command = 3, | Call - adminCalculator
data = 1000

T3_NPS_211_010 c_ID = admin, command = 4, | Call - adminCalculator
data = 100

T3_NPS_211_011 c_ID = admin, command = 5, | Call - adminCalculator
data = user2

T3_NPS_211_012 ¢_ID = admin, command = 6, | Call - adminCalculator
data = user2

T3_NPS_ 211 _013 c_ID = admin, command = 7, | Call - adminCalculator
data = userlist.txt
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T3_NPS_211_014 c_ID = NULL, command = 1, Error
data = sing.txt
T3_NPS_2121_000 c (c_ID = user, file = sing.txt, | Error

command = 1)

p (Pl = 1000, PP = 10, VF =
1)

T3_NPS_2121_001

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl = 1000, PP = 10, VF =
0)

Call - cal_data

//HI8Y S8, Ti0|

EXYSIK| Yooz

T3_NPS_2121_002

¢ (c_ID = user, file = sing.txt,

command = 1)

p (Pl = 1000, PP = 10, VF =
1)

Call - cal_data

T3_NPS_2121_003

¢ ( c_ID = admin, file =

sing.txt, command = 1)

p (Pl = 1000, PP = 10, VF =
0)

Call - cal_data

// HI8Y S8, Lt0|

EASHA| sz

T3_NPS_2121_004

¢ ( c_ID = admin, file =

sing.txt, command = 1)

p (Pl = 1000, PP = 10, VF =
1)

Call - cal_data

2015

Class A Team 3

30




Ver. 1.0

T3_NPS_2122_000

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = O,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Call - print

T3_NPS_2122_001

command = 2

PT (ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

Call - stop

T3_NPS_2123_000

command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,

calculated_paper = 30,

Print
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verified_file = 1)

PS ( print_current_state = O,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2123_001

command = 1

PT (ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

Print

T3_NPS_2124_000

command = 2

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,

current_paper = 100,

Error
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temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2124_001

command = 2

PT ( ID = admin, file =
sing.txt, calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Stop

T3_NPS_2126_000

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)
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T3_NPS_2126_001

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=5)

error_code = 1

//wait_num =5

T3_NPS_2126_002

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,
verified_file = 0)

PS ( print_current_state = 2,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=5)

error_code = 1

//wait_num = 5

T3_NPS_2126_003

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 0

error_code = 2

//verified_file = 0
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PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2126_004

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = O,
current_ink = 200,
current_paper = 100,
temp_ink = 200, temp_paper

= 100, wait_num = 0)

error_code = 2

//calculated_ink > temp_ink

T3_NPS_2126_005

Command = 1

PT (ID = user, file = sing.txt,
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 10, temp_ink
= 3000, temp_paper = 10,

wait_num = 0)

error_code = 2

//calculated_paper >

temp_paper

T3_NPS_2126_006

Command = 2

error_code = 3
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PT (ID = user, file = sing.txt, | //print_current_state != 1
calculated_ink = 300,
calculated_paper = 30,

verified_file = 1)

PS ( print_current_state = 2,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2126_007 command = 3 error_code = 4

RT (100) //print_current_state ==
PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 0, temp_ink
= 3000, temp_paper = 0,

wait_num = 0)

T3_NPS_2126_008 command = 3 error_code = 5
RT (100) /18 SHH %O 8 X2 =1t

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2126_009 command = 4 error_code = 6
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RT (3000 )

PS ( print_current_state = O,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2126_010

command = 5
UT (ID = admin, El = 0 )

PS ( print_current_state = 1,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

error_code = 7

//print_current_state == 1

T3_NPS_2126_011

command = 5
UT (ID = admin, El = 1)

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

error_code = 8

T3_NPS_2126_012

command = 6

UT (ID = admin2, El = 0)

PS ( print_current_state = 0,

error_code = 9

//El == 0 AN ALEHO|

oA g
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current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

T3_NPS_2131_000 c ( c_ID = user, file = refill.txt, | Error
ID = NULL, command = 3,
r_ink = 100, r_paper = 1000)
T3_NPS_2131_001 c (c_ID = user, file = refill.txt, | Error

ID = NULL, command = 4,
r_ink = 100, r_paper = 1000)

T3_NPS_2131_002

c (c_ID = admin, file =
refill.txt, ID = NULL,
command = 3, r_ink = 0,

r_paper = 1000)

Call - refill controller

T3_NPS_2131_003

¢ ( c_ID = admin, file =
refill.txt, ID = NULL,
command = 4, r_ink = 100,

r_paper = 0)

Call - refill controller

T3_NPS_2132_000

Command = 3, amount

Call — refill paper

100
T3_NPS_2132_001 Command = 3, amount = Error
101
T3_NPS_2132_002 Command = 4, amount = Call - refill ink
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1000
T3_NPS_2132_003 Command = 4, amount = Error

3001
T3_NPS_2134_000 Amount > Max Error
T3_NPS_2134_001 Amount = Max Refill ink
T3_NPS_2134 002 0 < Amount < Max Refill ink
T3_NPS_2134_003 Amount < 0 Error
T3_NPS_2135_000 Amount > Max Error
T3_NPS_2135_001 Amount = Max Refill paper
T3_NPS_2135_002 0 < Amount < Max Refill paper
T3_NPS_2135_003 Amount < 0 Error
T3_NPS_2136_000 ID = NULL, File = userlist.txt | Error
T3_NPS_2136_001 ID = user, File = userlist.txt Join

// userlist.txt Ofl ID =7}

T3_NPS_2136_002

ID = admin , File = userlist.txt

Error

// userlist.txt Of & =Y

T3_NPS_2137_000

ID = NULL, File = userlist.txt

Error
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T3_NPS_2137_001

ID = admin, File = userlist.txt

Error

// admin 2 X|2 = QiCt

T3_NPS_2137_002

ID = user, File = userlist.txt

Delete

T3_NPS_22_000

WT (ID = user, file = sing.txt,

paper = 10)

PS ( print_current_state = O,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

=0)

Print

T3_NPS_22_001

WT (ID = admin, file =

sing.txt, paper = 10 )

PS ( print_current_state = 0,
current_ink = 3000,
current_paper = 100,
temp_ink = 3000,
temp_paper = 100, wait_num

print

8.2. Test items

Test case specification identifier &ZX

8.3. Input specifications
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Test case specification identifier &
8.4. Output specifications

Test case specification identifier

9. Testing tasks

Testing tasks & Schedule

Task Predecessor task Skills Effort Finish Date

Unit Test Plan X SRA, SDS %M SASD 2| O|sff | 4

8l NPS 73

Test Design Specification | Task 1 NPS O|3f 3 2015-9-29
Test Case Specification Task 2 NPS 0|5 3 2015-10-13
Test Execution Task 3 Test AE &Y | 5 2015-11-17
Test Result Report Task 4 A2 HAE 2015-11-25
JHLE O Report M Task 5

10. Environmental needs

NPS 2| unit test & ¢ &4 ™ 27 A2 Ch31F 2L}

(M IDE: 9 io

(2) Cygwin (64bit)

11. Unit Test deliverables

12. Schedules
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Testing tasks & Schedule &1l
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